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TAKMA UCLU MATKAP (U-DRILL) KULLANMA KILAVUZU

Matkabinizi CNC torna rezgohmo ba@lamodon dnce taretin merkezden kagik o|up o|mod|g|n| kontrol etmeniz gerekir. Sayet taretinizde kagiklik
varsa, takma uglu matkabinizi kesinlikle kullanmayiniz. Taretin dizeltilmesi icin yapilmasi gereken islemler;

1. Taretin tutucusuna kullanacaginiz takma uglu matkabin ¢apinda ve boyunda iizeri hassas olan silindirik bir parca
baglanir ve tezgahin X degeri sifira getirilir.

2. Tezgahin aynasina miknahish komprotdr saati yerlestirilir. Saatin ug kismi tarete baglamis oldugumuz parcanin istine temas ettirilir.

3. Aynanin izerine baglamis oldugumuz miknatisli komprotér ayna ile beraber 360 derece dondiirilerek saatteki degisim oranina gére taretin
sifirlanmasi saglanir.

TAKMA UGLU MATKABINIZI CNC TORNANIZDA DAHA VERIMLI KULLANMANIZ iGiN GEREKLI OLAN KESME HIZLARI ve DEVIRLERI :

(Grup No. Malzeme Cinsi Malzeme Oz. Kesme Hizi Vc (mm/dk) )
1 Cok Yumusak Is Celikleri C1010, Otomat vb. 220
2 imalat Celik ve Dokiim Malz. C1030 - 106 vb. 200
3 Takim ve Imalat Celikleri CK-45, 4140, 7131 vb. 170

4 Sicak Is ve Paslanmaz Celikler impaks vb. 150 )

Devir hesabi yapabilmek icin énce malzemeyi seginiz. Segtiginiz malzemenin kesme hizini (Vc) 1000 ile garpip 3.14e bslmeliyiz. Cikan degeri
matkap capina blmeliyiz. (eJ312 4 Malzememiz takim ve imalat celigi (3. grup), matkap capi 25 mm kesme hizi 170 ise 170x1000=170000/3.14=54140,
54140/25=2166 devir gikar (Tezgahin is Mili Deviri). Tezgahin ilerlemesi kullanacaginiz uglada alakali olup 0.05 ile 0.10 arasinda degisim gosterir. Kullanici
kesici ucun kesisine gére bunu ayarlar.

iSLEME MERKEZLERI iCiN iLERLEME HESABI :

Yukaridaki hesaplamalarla bulmus oldugumuz 2166 mili devrini, kesici ug ilerlemesi (mm/devir) 0.05 ile 0.10 arasindaki ilerleme segenekleri ile
carpilir. m2166x0.05=]08 m 2116x0.10=217 cikan sonuclar 108 ve 217 isleme merkezleri icin ilerleme mm/dakika hesabidir.

. USER’S GUIDE FOR AKKO U-DRILLS

Before connecting your U-Drill to CNC lathe, you have fo check if the turret is eccentric from the center or not. If there is any eccentricity in your turret, never
use your U-Drill. , Processes that should be done to fix the turret :

1. A cylindirical part whose surface is precision and whose length and diameter is the same with the U-Drill that you will use, should be mounted to the holder
of turret and X value of the lathe should be brought to zero ( 0 ).

2. Comparator should be mounted to chuck. The end of the comparator should be confacted { touched ) to the surface of the part that we mounted on the turret.
3. The comparator that we mounted on the chuck should be furned 360-degree with the chuck and turret should be zeroed by that turning according to changing
rate of comparator.

CUTTING SPEED AND REVOLUTION THAT ARE NEEDED FOR USING ( RUNNING ) YOUR U-DRILLS MORE PRODUCTIVELY

(Grup No. Material Material Type Cutting Speed Vc ( mm/m)
1 Non-alloy steel and free cutting steel C1010, Automat etc. 220
2 Low alloy steel and cast steel C1030 - 106 etc. 200
3 Alloy steel and tool steel CK-45, 4140, 7131 efc. 170
. 4 Hot Work Steel and Stainless Steel Impax efc. 150 )

P.S. : The cutting speed may be concerned with the type of the insert that you use.

Fistly, choose the material to make calculation of revolution. You should multiply the cutting speed (Vc) of the material that you chose by 1000 and divide by
3.14. You should divide the value that you found by the diameter of U-Drill. m If our material is alloy steel and tool steel ( 3rd group ), diameter of
the U-Drill is 25 mm, cutting speed is 170, we should calculate as following; 170x1000=170000/3.14=54140, 54140/25=2166 rpm is the result that we
found ( Spindle Speed ) Feed rate of the lathe is concerned with the U-Drill that you will use and changes between 0.05 and 0.10. The user sets it according
fo cut of cutting insert.

FEED CALCULATION FOR CENRTRAL MACHINE :

2166 spindle speed, that we found as a result of above mentioned calculation, should be mutiplied by cutting insert feed ( mm/r ) between 0.05 and 0.10
feed chosses, CERRIR 21 66x0.05-108 2116x0.10=217

The results 108 and 217 are the feed mm/m calculation for central machine.
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]
] FREZELEME iSLEMINDE DEVIR ve ILERLEME HESABI
e T
Ve. S D F YA fz FORMULLER
Kesme Hizi is Mili | Tarama | ilerleme|  Etkili Dis Basina Disen Devir Hesabi
(Ug Kutusunun | Devir | Kafasi Agiz llerleme Miktari S=(Vcx 1000) / (3.14 x D)
Arkasindan Sayisi Capi Sayisi (Uc Kutusunun llerleme Hesabi :
Okuyun) Arkasindan Okuyun) F=SxZxfz
N\ J

X D=50 mm capinda, Z=5 agizl tarama kafasi ile frezeleme yapacagiz. Kesici uc kutusunun arkasinda kesme
hizi Vc=200m/dak olarak verilmis olsun. Tezgaha girilecek devri hesaplayalim:

S = Oncelikle Kesme Hizi 1000 ile carpilir, cikan sonug 3,14 sayisina bélinar, buradan cikan sonu¢ da tarama kafasi
capina boélunor.

S =200 x1000 = 200000 — 200000/3,14 = 63663 —  63663/50 = 1273 devir

Deviri bulduktan sonra ilerlemeyi bulalim : agizl tarama kafasi olsun olarak uc kutusunun arkasindan
okunmus olsun  F = Yukarida bulmus oldugumuz devir sayisi ile agiz sayisi carpilir, cikan sonug dis basina disen
ilerleme miktari ile carpilir.

F=1273x5 = 6365 — 6365x0,12 =763 (5 ¥ / dakika

Tezgaha girilecek olan devir = S 1273 Tezgaha girilecek olan ilerleme = F 763 ortalama degerdir.

Not : Vc ve fz degerlerinin ug kutusunun arkasinda verilmis olmasi gerekir. Eger bu degerler ug kutusunun Uzerinde
yoksa, kesici ucun katalogundan bulunuz. Isleyeceginiz malzeme celik ise P, paslanmaz celik ise M, dokme demir ise
K béluminde yazili olan Ve ve fz degerlerini okuyun.

CALCULATING SPINDLE SPEED and FEED RATE FOR MILLING PROCESS

Vc. S D F yA fz FORMULAS
Cutting Speed | Spindle | Milling | Feed |[Number Feed Per Tooth Calculation of Revolution :
(Please read  |Revolution| Tool Rate of (Please read from the S=(Vc x 1000) / (3.14 x D)
from the back rpm | Diameter Effective| back side of cutting ]
. . . Feed Rate Calculation :
side of cutting Tooth insert box)
insert box) F=SxZxfz
_ J

(FTAEETTEE We will make milling with milling tool whose diamention is D 50 mm, whose theeth number is Z=5.
The spindle revolution was written as Vc=200m/mn at the back side of cutting insert box. Let's calculate the revolution
that should be entered to the milling machine :

S = Firstly Cutting Speed is multiplied with 1000, the result should be divided by 3.14 , the last result should be divided
by diameter of milling tool.

S =200 x1000 = 200000 — 200000/3,14 = 63663 — 63663/50 = 1273 rev

After finding spindle revolution, let's find feed rate : milling tool with [ teeth and we read [ZZUF] from the back
side of cutting insert box.

F = Tooth number should be multiplied with revolution, the result should be multiplied with feed per tooth.
F=1273x5=6365 — 6365x0,12 =763

Revolution that should be entered to the milling machine = S 1273 Feed Rate that should be entered to the milling
machine = F 763 average value.

PS : The valuesVc and fz have tobe written at the back side of the cutting insert. If these values were not written on
the cutting insert box, please find them from cutting insert catalogue. If the material that you will work is steel, please
read Vc and fz values that were written on the part P, if it is stainless steel please read from the part M, if it is cast
iron please read from the part K.
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FREZELEME TAKIMLARI MONTAJ OLGULERI

MOUNTING REFERENCE FOR MILLING CUTTERS
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